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CENTRAL ZONAL EXAM
STD:7.- TERM 3.5

SOCIAL STUDIES
AND
RELIGIOUS EDUCATION

EAD THESE INSTRUCTIONS CAREFULLY

1, Use only an ordinary pencil.

= q Time: 2 hours 15 mins

Make sure that vou have written on the answer sheet:-

{i} YOUR NAME (II}) NAME OF YOUR SCHOOL

For each question show the correct answer by drawing line in the brackets in which the letter you have
choosen is written.
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area is:-

Study the map of Tuthu area to answer

What 1s the approximate length of the tarmac road
from the junction to the East?

A 12km ' B.4km
C.9km D.6km
What is the direction of L. Maji from the bridge?

A. North B. South West
C. South East D. South

The senior most government administrator in Tuthu

A. county director B. county governor
C. county commissioner D. county representative

Population in Tuthu area can be described as

~ oo - o disthiBated.
A. densely B. evenly
C. Iinearly D. sparsely

The type of vegetation likely to be found in the
Eastern part of Tuthu area is:-

A. Mountain forest B. Mangrove forest

C. Scrub D. Heath

The feature marked P on the map of Tuthu area
was formed as a result of:-

A. erosion
C. wind action

B. deposition

D. glacial action

The most common economic activity in Tuthu area
is:-

A. crop farming

B. mining

C. pastoralism -

D. fishing

Which group consists of members of nuclear family?

A. Grandfather, niece and mother

B. Father, son and cousin

C. Mother, daughter and uncle

D. Father, son and daughter :

The following groups consist of people of West

Africa. Which one consists of Mande Speakers?

A. Malinke, Susu, Bambara, Soninke

B. Bambara, Hausa, Tuaregs, Kanuri

C. Mossi, Dagomba, Gurma, Begu

D. Asante, Kwahu, Yoruba, Nzima

Which one of the following was the main reason for

the migration of Semites to Eastern Africa?

A. Wanted to carry out trade with Eastern African
people

B. Search for fertile land

C. Because of drought and famine

=

. Searching for pasture and water

11.

12.

13.

14.

is.

The MAIN reason for the coming of explorers in
Eastern Africa was to:-

A. know more about the kingdom of Eastern Africa
B. spread the Christianity

C. stop'the slave trade

D. find the source of R. Nile

The position of the king of the Old Ghana kingdom
was hereditary. The king was succeeded by:-

A. his elder sister’s son
B. his eldest son

C. his elder brother

D. his elder brother’s son

Africa is found between the following latitudes and
longitudes. 5

A. 35N, 37°S and 52°W, 18°E

B. 37°N, 35°S and 18°W, 52°E

C. 18°N, 52°S and 37°N, 35°E

D. 18°N, 52°S and 37°W, 35°E

Most of the multipurpose river projects in Africa
were established mainly to:-

A. control floods

B. irrigation

C. create fishing grounds

D. provide water for H.E.P production

Kabaka Mutesa I signed friendship treaties with the
British because of all the following EXCEPT:-

A. Fear of the Bunyoro threats

B. support against his brother

" C. fear of the Arabrulers

16.

D. wanted to keep off Muslims

Listed below are factors that influence population
distribution in Africa.

@) climate

(ii) urbanization

(iii) relief -

{iv) hot and dry conditions

" (v) soils

(vi) drainage
(vii) historical events
(viii) wet and cool conditions
Which combination of factors encourages dense
population in Africa?
A, iii, v, vii
B.i,iv,v, vi
C. iii, vii, v, 1
D.iv, v, vi, vii

il

b
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17. Which one of the following is not an element of =«

weather?

A.Wind B.Water C.Rain D.Sunshine
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19.

20.

21.

22.
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African was:-

A. Southern Sudan .

B. Saudi Arabia

C. Horn of Africa

D. Congo Camercon boarder

The following are characteristics of a type of soil.

(i) are newly formed :

(ii} are formed after depeosition of eroded
materials

(iii) wmormally found in river valleys and flood
plains such as Yala, Sondu and Ewasc
Nyiro

The type of soil described above is LIKELY to

be:-

A. Volcanic soils B. loamy soils

C. alluvial seils D. black cotton soils

Among the following which is the functions of a

deputy headteacher.

A. Acts as a secretary to the school committee

B. Writes minutes during staff meetings

C. Decides on the pupil’s-enrolment

D. Helps in detecting talents in the pupils

Ameru had a religious leader whose title was:-

A. Mugwe “~.  B.Njuri Ncheke

C. Nkomango D. Nabongo

Equatorial climate is also cailed:-

A. Tropical climate B. High veld climate
C. Alpine climate D. Hot and wet climate

Use the map of Africa below te gnswer

guestions 23 to 26.
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24.

25,

26.

27,

28.

29.

30.

31.

32.

B. the Portuguese
D. the Belgians

A. the Germans
C. the British

The crop grown in the region marked ccec is likely
to be:-

A. cocoa B. cloves

C. coffee D. cotton

The river marked R ends in a/an:-

A.estuary B.confluence C.iributary D. delta :

The MAIN mineral export of country Y is:-
A. petroleum B. diamond
C.gold \ D. copper

Which of the following is NOT a problem facing
transport network in Eastern Africa?

A. Roads and railways are costly to build

B. Frequent road accidents

C. Possibility of internal and international trade

D. Attacks by bandits

Which of the following factors are mainly
responsible for high population distribution in the
highlands?

A.Govemnment policy  B. Mining activities

C. Growth of towns D. Fertile soils

Which one of the following is a benefit of
democracy?

A. There are nepotism

B. People are treated fairly

C. Tribal clashes are experienced

D. People do not take their duties we!l

Which of the following groups is made up of Plain
Nilotes only? :
A. Maasai B. [ Maasai
Turkana Tugf‘f% ]
C. . [Nandi £ ﬁm}fw
L%_amburu | Njemps
All the following ar problerns facing infand fishing

- .

in Kenya and Tanzama

A. availability of fishing eqmpmnts
B. overfishing §
C. water weeds

D. poor state of roads

What was the MAIN reason for the establishment
of the seven fork scheme‘?

A. Provide fishing grounds

B. To control the floo Is in lower ,wa

C. Provide water for irrigation

D. Production of the hydro-electiicity pewer

STD 7 - SOCIAL STUDIES / C.R.E

- o s a8

e AV RS Ak e L



33.

_ C.Insecurity

. Which of the following town does the Great North

The following are contribution of pro:rﬁneﬁt leaders
in Eastern Africa.

(1) He introduced new constitution in his country
(i) He organized his government into ministers
(iii) He established private school in his country
(iv) He was a founder member of OAU

The above statement describes:-

A Julius Nyerere B. Haile Selassie

C. Jomo Kenyatta D. Kwame Nkrumah
What is the MAIN problem facing tourism in
Africa?

A. Poor infrastructure

B. Poaching

-

D. Lack of good accomondation

The statement below consists of a type of vegetation
found in Kenya.

(i) Mzinly consists of grass and short scattered trees
(ii) Trees are mainly acacia

(iii) The vegetation is wide spread

The statement describes:-

A. Savannah grassland vegetation

B. Semi desert vegetation

C. Dry bush land vegetation

D. Mangrove vegetation

Three of the following are problems facing beef
farming in Tanzania EXCEPT:-

A. inadequate slaughter houses

B. oceasional attack by wild animals

C. break out of diseases

D. Growth of urban centres

Which is the main functions of Dodoma?

A. Administrative centre

B. Anindustrial centre

C. Aresidential centre

D. Transport and communication

Belgians in Congo used which system of colonial
A, Indirect rule
C. Assimilation

B. Direct rule
‘D. Association

Road connects? °
A.Cape Town B. Lagos C. Dakar D. Mombasa
Among the following which is NOT the use of
petroleumn in Nigeria?
A. Produce petrol and diesel

_B. Making of plastics and medicines
C. Making chemicals

D. Making water and gas pipes

41.

42.

'-43'

44¢

45.

46.

47.

48.

49.

Most of the rivers in Africa are not navigable
because of the three EXCEPT-

A.rivers are seasonal

B. Tack of natural harbour

C. preséfice of floating vegetation
D. presence of waterfalls

Which of the fpllowing boxes contain exports from
the Eastern Affica?

A. | Machinery, wheat | C. [Coffee, vehicles |
petroleum, vehicles* electronics, tea ]
S
B. Coffce,te‘ra f— D. | Cotton, pyrethmmg
cloves, textiles : fertilizer, petroleurn

The following are effects of drig and substance
abuse. Which one is NOT?

A. Promote heaith leisure activities

B. Led to poor health

C. Led to increase in road accident

D. Social instability

The following are problems experienced due to
development of industries in Kenya and South
Africa. Which one is NOT? :

A. Rural-urban migration

B. High rates of crime ]
C. Destruction of natural rescurces

D. Provide more stable constant source of income

The MAIN importance of forest conservation is:-
A. provide home for wild animals

B. protect the soil erosion

C. protect the water catchment areas

D. provide raw-materials for industries

The growing of flowers in Kenya is called:-
A. horticulture B. floriculture

C. agroculture D. agriculture
The MAIN economic benefit of forestry in DRC
is:-

A. exports of timber

B. scientific research

C. source of employment
D. protection of water resources

The leading mineral export for Kenya is:-
A. diatomite B. fluorspar
C. limestone D. soda ash

A foreigner who has been married by a Kenyan
citizen becomes a citizen by:-

A. dual citizénship B. birth

C. registration D. naturalization

——
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j. Which of the following 8 the best wildlife

conservation measure?

A. Educating people on the importance of wildlife
B. Allowing poaching

C. Accommodating people in game parks

D. Encouraging the sale of game trophies

. The headquarters of IGAD is in:-

A, Dar-es- Salaam

C. Mogadishu

B. Djibouti
D. Asmara

. Which one of the following ways of teaching in

traditional African society required one to learn from
an expert?

A. Story telling B. Songs

C. Telling riddles D. Apprenticeship
Which of the following is NOT a cause of conflict
inthe society?

A. Electing members of one tribe during elections
B. Selfishness

C. Fair distribution of resources

D. Corruption

The MIAIN reason that led to the defeat of Samouri
Toure in his war with the French was:-

A. scorched earth policy

B. inferior weapons

C. Islam was the unitying factor
D. a well trained good army

. Which one of the following is a function of

Independent Electoral and Boundaries Commission
(IEBC)?

A. Electing leaders

B. Conducting civic education

C. Nominating candidates

D. Conducting elections

. The type of democracy in which people become

the owners oftheir laws is known as:--

A. direct democracy

B. representative democracy
C. delegative democracy

D. nominational democracy

Which one of the following is a factor that promotes
peace?

A. Unemployment

B. Transparency

C. Civil wars

D. Disagreements on boundaries

. The MAIN function of the legislature is to:-

A. nominate candidates
B. implement laws

C. make laws

D. read the budget

60.

61.

62.

- 63.

64,

65.

66.

67.

68.

69.

. Which one of the folowng is NOT a way v Josing

a seat for a member of parliament?

A. Admission to hospital for three months

B. If the member is declared mentally sick

C. When a member of parliament is elected speaker
D. A sentence of upto six months in jail

The chapter in the const*1tion that contains the right
and freedoms of individuals is known as:-

A. National Aceord B. Bill of rights

C. The publicservice ~ D. Citizenship

SECTION IT
CHRISTIAN RELIGIOUS EDUCATION
According to Genesis stories of creation, what did
God create on the fourth day?
A. Vegetation
B. Sky
C. Sea creatures and birds
D. Heavenly bodies
Which punishment was given to Eve after eating the -
forbidden fruit?
A. Pain during child birth
B. Toiling hard and sweating
C. Being enemies with each other
D. Chased away from the garden
Who among the following people was the first to
plant vineyard? ;
A.Adam B.Naboth C.Noah D.Abraham
Among the sons of Jacob, who was an ancestor of
Jesus Christ?

.Joseph B.Judah C.Levi D.Reuben
Which lesson do Christians learn from the encounter
of Abraham sacrificing his only son?

A. God protects B. God is merciful

C. God tempts people  D. God provides
Goliath who was killed by David was a:-

A. Hebrew B. Midianite

C. Philistine D. Levite

The following are commandments broken by King
Ahab EXCEPT:-

A. Do not steal

B. Do not covet

C. Do not accuse others falsely

D. Do not kill

Who was the only woman judge in Israel?

A. Peninnah B. Zipporah C. Miriam D. Deborah
Among the following prophets, who healed the
commander of the Syrian army?

A.Jerémiah B.Elijah C.Elisha D.Nathan
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76.

77,

78.

79.

80.

81:

The pareats of John the baptist were:-

A. Elikanah and Hannah

B. Zachariah and Elizabeth

C. Zachariah and Mary

[». Joseph and Mary

Which prophet had foretold the birth of Jesus?
A.Micah B. Isaiah C. Hosea D. Joel
According to the teaching in the Bible, which is the
MAIN reason why John the baptist was born?

‘A. To preach the good news
" B. to baptize people

C. To teach people the word of God
D. To prepare for the coming of Jesus

t. The healing of the paralysed man teaches Christians

that Jesus has power:-

A. over death B. to heal
C. to forgive sins D. to protect

Before Levi became a follower of Jesus he was a:-

A. tax collector B. fisherman
C. farmer D. tent maker

. Happy are those who work for peace for

A. they will see God

B. God will call them his children

C. the kingdom of heaven belongs to them

D. God will satisfy them fully

Among the following parables, which one teaches
about the growth of the kingdom of God?

A. Therich fool B. The weed

C. The great feast D. The mustard seed
According to the teachings of Jesus, we should store
our riches in heaven. These riches are:-

A. secular values B. Christian values

C. Money D. Land

Which is the main reason why Christians shouid not
judge others?

A. So that God will not judge them

B. In order to please others

C. In order te be good leaders

. D. So that they will receive eternal life

According to Christian teachings eternal life means
the following EXCEPT:-

A. knowing God through Jesus

B. life without an end

C. life after death

D. everlasting life

The following are ways in which God reveals himself
to man EXCEPT:-

A. Creation B. Jesus Christ

C. Prophets D. Priests

The MAIN lesson Christians learn from the teaching
of Jesus on wealth is that it should be:-

82.

83.

84.

A. sold out to others

B. shared with the needy

C. used to make profit

D. used for personal needs

During the time of the early church, Christians
received the Holy spirit through:- .

A. laying of hands B. praising God

C. being baptized D. reading the Bible
Which is the MAIN reason why Paul was called
by God?

A. To stop persecuting Christians

B. To receive the Holy Spirit

C. To preach to the Gentiles

D. To preach to the Jews

Three of the following activities in traditional African
communities show that there is life after death

. EXCEPT:-

85.

86.

A. singingand dancing  B. pouring libation

C. slaughtering animals D, giving bride price

In traditional African communities children are told
stories mainly to:-

A. entertain them

B. teach them moral values

C. keep them busy

D. pass on community history

In African traditional society,
describes his:-

A. character and power

B. character and selfishness

God’s names

" C. power and greed

87.

88.

89.

90.

D. power and envy

John a Std 7 pupil has been asked to give money to
the captain so as to be allowed to play in the school
football team. As a Christian what action should he
take?

A. Announce it to the others

B. Tell him it is wrong

C. Pay the money required

D. Report to the games master

Christians are helped to do the will of God by:-
A. their will B. their pastors

C. their relatives D. the Holy Spirit
Which one of the following is the most common
cause of child labour in Kenya?

A. Drug abuse -B. Death of parents

C. Poverty D. Family quarrels

The following are reasons that lead to misuse of
leisure EXCEPT:-

A. reading useful story books

B. influence from friends

C. lack of moral guidance

D. idleness and gossiping
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